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1p 15 ‘an untapped recruitment pool’ (paragraph 3) 
What becomes clear about the people in this ‘recruitment pool’ in 
paragraph 3? 
A They are considered to be less stress-resistant than male applicants. 
B They are thought to lack the ambition for a career at high level. 
C They have been employed for the wrong reasons until recently. 
D They have been overlooked by those responsible for hiring employees. 
 

1p 16 Welk sterk punt hebben oudere vrouwen en moeders te bieden, volgens 
alinea 3? 
Geef antwoord in het Nederlands. 
 

2p 17 Geef van elke van de volgende beweringen aan of deze wel of niet in 
overeenstemming is met wat Gisela Stuart (alinea 4) zegt. 
Omcirkel ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Het is gemakkelijker om goed personeel te vinden als je het haalt uit 

verschillende groepen. 
2 In alle lagen van een organisatie moeten vrouwen werken. 
3 Een organisatie kan alleen veranderen als de leidinggevenden bereid 

zijn daarvoor te zorgen. 
 

1p 18 How does the writer conclude the article in paragraph 5? 
A by anticipating on unacceptable social changes in the near future 
B by emphasising her personal opinion on the matter discussed 
C by linking a lighthearted news item to the topic of the text 
D by making fun of people who publicly support feminist ideals 
 
 

Tekst 7 

 
1p 19 What is the point made in paragraph 1? 

A Most children prefer watching television to doing something else. 
B Parents put children in front of the television to keep them calm. 
C There are too many children’s programmes available nowadays. 
D Young children see more moving electronic images than is advisable. 
 

1p 20 Kies bij    20    in alinea 2 het juiste antwoord uit de gegeven 
mogelijkheden. 
A As a result of 
B In spite of 
C Instead of 
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1p 21 What is the point made by Nicholas Christakis in paragraph 3? 
A Allowing children to watch a lot of cartoons can result in a long-life 

addiction to easy entertainment. 
B Limiting a baby’s screen time can have undesirable effects on its 

educational progress. 
C Watching programmes with a lot of scene changes in little time can 

harm a young child’s development. 
 

1p 22 Kies bij    22    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A agree that 
B question if 
C wonder why 
 

1p 23 What is the function of paragraph 5? 
A to add new information 
B to contradict earlier arguments 
C to promote more research 
D to summarise the text 
 
 

Tekst 8 

 
1p 24 How does the writer introduce the topic of this text in paragraph 1? 

A by giving a lively description 
B by making a harsh statement 
C by raising a difficult dilemma 
D by simplifying a complex problem 
 

1p 25 How does paragraph 2 connect to paragraph 1? 
The effects of the situation presented in paragraph 1 
A are analysed in paragraph 2. 
B are illustrated in paragraph 2. 
C are repeated in paragraph 2. 
D are weakened in paragraph 2. 
 

1p 26 Kies bij    26    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A complicated 
B nervous 
C sociable 
D unpredictable 
 


